oAt |
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g -NE-T of At o4
100 ZpEA4 7,443,000| 8,293,307| 850,307
170 2oz 7,387,000 8,086,500  A699,500
173 ERAHEEZS+Y 7,387,000| 8,016,500|  A629,500
01 IAEZRFY 4,370,000 4,937,000] A567,000
OB~ EARISTHSAIY 500,000,000 = 500,000
OBt ZH| BTLAIY 2ciz 2,389,000,000& = 2,389,000
ORUA2|TY 2 stz FH| 1,230,000,0008! = 1,230,000
OZ|2 s0i2012 stk ZH| 131,000,000% = 131,000
O =012012 st 4| 120,000,000% = 120,000
02 ERPAHEEZRISY 2,961,000 3,070,500|  A109,500
OLBIS|A 2|HZ (A=) 2,610,000,000¢ = 2,610,000
OFZNHAILE LS HAZ (R 351,000,0008 = 351,000
03  Al=H|2ZZY 56,000 9,000 47,000
OZ|2 =s0i2012 stk ZH| 6,000,0008 = 6,000
O 012012 st & 10,000,000 = 10,000
OA|E SIHHOLS slzi2|A1- 7HA)| 40,000,000 = 40,000
175 ARz 0 70,000 70,000
09 7ERBARESSY 0 70,000 70,000
180 |EAZ 56,000 206,807 150,807
181 &=MAYCZE 50,000 200,807|  A150,807
01 =AYz 50,000 200,807  A150,807
O&MAYoIZ 50,000,0008 = 50,000
182 Dlag 6,000 6,000 0
01 Yoz 6,000 6,000 0
OAHAE sl AER Y 6,000,0009 = 6,000




